Legenda miestnosti:

x Nazov Plocha
— miestnost m?2 Fodichy
3.01| Schodisko - chodba 9,70 -
3.02| Umyvarka muzi 2,46 Keramicka
3.03| WC muza 4.04 Keramicka
3.04| Upratovacka 1,40 Keramicka
3.05| Predsienka Zeny 5,99 Keramicka
3.06| WC Zeny 1,26 Keramicka
3.07| Kancelana 16,75 Laminatova
3.08 Kancelana 16,75 Laminatova
3.09 Kancelana 16,950 Laminatova
3.10| Kancelana 16,75 Laminatova
3.11| Kancelana 17 A5 Laminatova
3.12| Kancelana 200 Laminatova
3.13| Kuchynka 4 68 Granitogres
3.14| Kancelana 2120 Laminatova
3.15| Kancelana 20,60 Laminatova
3.16| Kancelana 2065 Laminatova
3.17| Kancelana 20,70 Laminatova
3.18| Kancelana 20,60 Laminatova
3.19| Kancelana 20,65 Laminatova
3.20| Kancelana 2391 Laminatova
3.21| Kancelana 2859 Laminatova
3.22| Chodba 45,70 Granitogres
Spolu 357,88
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